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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH́$_mßH$ AdÌ` {bI|ü&

2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ ‡ÌZ-nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go
D$na N>nr h°ü& Bg ~mV H$s Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&

3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH́$_mßH$ {bIZo na narjmWu H$mo
A`moΩ` R>ham`m Om òJmü&

4. AnZr CŒma-nwpÒVH$m na ‡ÌZ-nÃ H$m H$moS> Zß0 54/HIS/2, goQ> u {bI|ü&

5. (H$) ‡ÌZ-nÃ Ho$db {h›Xr/AßJ´oOr _| h°ü& {\$a ^r, `{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm _| CŒma Xo
gH$Vo h¢ Ö

AßJ´oOr, {h›Xr, CXy©, nßOm~r, ~ßJbm, V{_b, _b`mb_, H$fiãS>, VobwJy, _amR>r, C{ãS>`m, JwOamVr,

H$m|H$Ur, _{Unwar, Ag{_`m, Zonmbr, H$Ì_rar, gßÒH•$V Am°a {g›Yrü&

H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢, Vmo ‡ÌZm| H$mo g_PZo _| hmoZo
dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar Ho$db AmnH$s hmoJrü&
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EN VI RON MEN TAL SCI ENCE

( The ory )

n`m©daU {dkmZ
( {g’m›V )

(333)

Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of two Sections—Section ‘A’ and Section ‘B’.

(ii) All the questions of Section ‘A’ are compulsory.

(iii) Candidates are given a choice in Section ‘B’. They are required to attempt

the questions either from ‘Option–I’ or ‘Option–II’.

(iv) Maximum marks of each question are indicated against it.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' _| {XE JE g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) I S> "~' _| {XE JE AnZr ngßX Ho$ {g\©$ EH$ {dH$În _| go ‡ÌZm| Ho$ CŒma X|ü&

(iv) ha ‡ÌZ Ho$ A{YH$V_ AßH$ CgHo$ gmW {XE JE h¢ü&

SEC TION–A

I S>–A

1. Name the industry which was introduced by the invention of bronze, iron and

wheel. 1

H$mßgm (bronze), bm°h Am°a n{h ò H$s ImoO Ho$ ~mX Amaß^ h˛E C⁄moJ H$m Zm_ {b{IEü&

2. Name any one species which  was first classified as indeterminate species and

then declared as endangered one. 1

{H$gr EH$ ÒnrerµO H$m Zm_ ~VmBE {Ogo nhbo A{ZYm©[aV ÒnrerµO Ho$ Í$n _ßo dJuH$•V {H$`m J`m Wm Am°a
~mX _| Cgo gßH$Q>mnfi ÒnrerµO Kmo{fV H$a {X`m J`mü&
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3. Mention two common weeds of foreign origin in our country. 1

h_mao Xoe Ho$ CZ Xmo gm_m›` AnV•Um| Ho$ Zm_ ~VmBE Omo {dXoer CX≤^d Ho$ h¢ü&

4. What is the role of blue-green algae in agriculture? 1

H•${f _| Zrb-h{aV e°dmbm| H$s ä`m ŷ{_H$m hmoVr h°ü?

5. Write any four reasons for the scarcity of urban water. 2

ZJam| _ßo Ob H$s H$_r Ho$ H$moB© Mma H$maU ~VmBEü&

6. Classify the following into species and genetic biodiversity : 2

(a) Indian teak, Burma teak, Malaysian teak

(b) Apple, mango, orange

(c) Lion, tiger, elephant

(d) Nigerian Chimpanzee, Western Chimpanzee, Central Chimpanzee

{ZÂZ{b{IV H$mo ÒnrerµO Am°a OZ{ZH$ O°d{d{dYVm _| dJuH•$V H$s{OE :

(H$) Bß{S>`Z Q>rH$, ~_m© Q>rH$, _bo{e`mB© Q>rH$

(I) go~, Am_, gßVam

(J) eoa, ~mK, hmWr

(K) ZmBOr[a`mB© {MÂn°›µOr, npÌM_r {MÂn°›µOr, Ho$›–r` {MÂn°›µOr

7. Ecosystem performs the vital function of recycling nutrients found in the

atmosphere as well as in the soil. Why? 2

dmVmdaU Am°a _•Xm _| ^r nmE OmZo dmbo nmofH$ nXmWm] Ho$ nwZ:MH´$U _| nm{aV›Ã _hŒdnyU© H$m`© H$aVm h°ü&
ä`m|?

8. Match the Column–I with Column–II : 2

Column–I           Column–II           

(a) Bandipur sanctuary (i) Lion

(b) Kaziranga sanctuary (ii) Elephant

(c) Manas sanctuary (iii) One-horned rhinoceros

(d) Gir forest (iv) Wild buffaloes
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H$m∞b_–I Am°a H$m∞b_–II H$m {_bmZ H$s{OE :

H$m∞b_–I           H$m∞b_–II            
(a) ~mßXrnwa A^`ma ` (i) eoa
(b) H$mµOraßJm A^`ma ` (ii) hmWr
(c) _mZg A^`ma ` (iii) EH$ gtJ dmbm J¢S>m
(d) {Ja dZ (iv) OßJbr ^¢gm

9. What is the role of corporate houses in the clean environment? 2

n`m©daU H$mo gmµ\$-Òd¿N> aIZo _| dm{Up¡`H$ gßÒWmZm| H$s ä`m ^y{_H$m hmoVr h°?

10. Why is enforcement of environmental legislation necessary at the international

level? 2

n`m©daUr` H$mZyZ Ho$ AßVam©Ô¥>r` ÒVa na ‡dV©Z H$s ä`m| AmdÌ`H$Vm h°?

11. Expand the following : 2

(a) UNEP

(b) BMC

(c) CBD

(d) UNFCC

{ZÂZ{b{IV H$m nyam Zm_ {b{IE :

(H$) UNEP

(I) BMC

(J) CBD

(K) UNFCC

12. What does HELI stand for? Mention one of its important functions. 2

HELI H$m nyU© Í$n ä`m h°? BgH$m H$moB© EH$ _hŒdnyU© H$m ©̀ ~VmBEü&

13. (a) What could be the reason for more quantity of dissolved carbon dioxide in

the oceans?

(b) Global carbon cycle has been increasingly disturbed not only by the

burning of fossil fuels. Comment on this statement. 4

(H$) _hmgmJam| _| H$m~©Z S>mBAm∞ägmBS> Ho$ A{YH$ _mÃm _| Kwbo hmoZo H$m ä`m H$maU hmo gH$Vm h°?

(I) Ho$db OrdmÌ_ B™YZm| H$mo ObmZo Ho$ hr H$maU d°pÌdH$ H$m~©Z-MH´$ _| A{YH$m{YH$ JãS>~ãS> Zht hmoVr h°ü& 
Bg H$WZ na MMm© H$s{OEü&
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14. (a) Give the technical terms of the following interactions :

(i) Sucker fish remora attached to a shark by means of its sucker.

(ii) Leopard hunts and kills the deer.

(iii) Penicillium attached on the bacteria.

(iv) Cuscuta (dodder plant) that lives on the flowering plants.

(b) “Decomposers play very important role in the ecosystem.” Comment. 4

(H$) {ZÂZ{b{IV naÒna-{H´$`mAm| Ho$ VH$ZrH$s Zm_ ~VmBE :

(i) [a_moam Zm_H$ MyfU _N>br AnZo MyfH$ H$s ghm`Vm go emH©$ na gßbæ ahVr h°ü&

(ii) V|XwAm {haZ H$m {eH$ma H$aHo$ Cgo _ma S>mbVm h°ü&

(iii) no{Z{g{b`_ OrdmUw na gßbæ ahVm h°ü&

(iv) nwÓnr nm°Ym| na OrdZ`mnZ H$aZo dmbm H$ÒHw$Q>m (S>m∞S>a nm°Ym)ü&

(I) ""nm[aVßÃ _| AnKQ>H$m| H$s ~h˛V _hŒdnyU© ^y{_H$m hmoVr h° &'' MMm© H$s{OEü&

15. (a) Your school has an aquarium in the laboratory. Observe it and record your 

observations on the abiotic and biotic components of it.

(b) What is meant by aquatic chicken? What is the importance of it? 4

(H$) AmnHo$ {d⁄mb` H$s ‡`moJembm _| EH$ ObOrdembm (Eoädo{a`_) aIr h°ü& Cgo Xo{IE VWm CgHo$
AO°d Am°a O°d KQ>H$moß Ho$ ~mao _oß {b{IEü&

(I) Ob Hw$∏w$Q> (aquatic chicken) go AmnH$m ä`m VmÀn`© h°? BgH$m _hŒd ~VmBEü&

16. Sanjana was reading the morning newspaper. She came across the news that

12 persons were killed by crash of bus with lorry. She asked you how to avoid

such kind of road accidents. Suggest any eight safety measures to avoid such

road accidents. 4

gßOZm gw~h H$m g_mMma-nÃ nãT> ahr Wrü& CgZo EH$ g_mMma _| nãT>m {H$ ~g Am°a bm∞ar H$s Q>∏$a hmoZo na 12

Ï`{∫$`m| H$s _•À ẁ hmo J`rü& CgZo Amngo nyN>m {H$ Bg ‡H$ma H$s gãS>H$ XwK©Q>ZmAm| H$mo {H$g ‡H$ma amoH$m Om
gH$Vm h°ü& Bg ‡H$ma H$s gãS>H$ XwK©Q>ZmAm| H$mo amoH$Zo Ho$ {bE {H$›ht AmR> gwajm Cnm`m| H$m gwPmd Xr{OEü&

17. Surya went to beach with her parents. She enjoyed that environment with good 

air, water, trees, crab, soil, fish and worms at the shore. Based on the above

information answer the following questions : 4

(a) What is meant by environment?

(b) Define biotic and abiotic components.

(c) Classify the biotic and abiotic components that she enjoyed in that

environment.
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gy`m© AnZo _mVm-{nVm Ho$ gmW g_w–-VQ> VH$ ^´_U Ho$ {bE J`rü& CgZo dhm∞± Ho$ n`m©daU H$m AmZßX CR>m`mü&
CgZo VQ>dVu Òd¿N> dm ẁ, Ob, noãS>, Ho$H$ãS>o, _•Xm, _N>{b`m± Am°a H•${_`m| H$mo XoImü& Cnamo∫$ OmZH$mar Ho$
AmYma na {ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE :

(H$) n`m©daU go AmnH$m ä`m VmÀn ©̀ h°?

(I) O°d Edß AO°d KQ>H$moß H$s n[a^mfm {b{IEü&

(J) CgHo$ ¤mam n`m©daU _| XoIo JE O°d Am°a AO°d KQ>H$m| H$m dJuH$aU H$s{OEü&

18. (a) What is the role of hyacinth in the removal of water pollutants?

(b) Demand for irrigation in India has been increasing continuously. Write the 

reason for it. 4

(H$) Ob-‡XyfH$m| H$mo hQ>mZo _| hm`m{g›W H$s ä`m ŷ{_H$m hmoVr h°?

(I) ^maVdf© _| qgMmB© H$s _m±J {Za›Va ~ãT>Vr Om ahr h°ü& BgH$m H$maU ~VmBEü&

19. (a) Why land and soil degradation must be checked?

(b) How poly-varietal cultivation helps to control soil erosion?

(c) What is 5R? 6

(H$) ^y{_ Am°a _•Xm Ho$ {ZÂZrH$aU H$s amoH$Wm_ ä`m| AmdÌ`H$ h°?

(I) ~h˛{dY eÒ`Z _•Xm AnaXZ H$mo {Z ß̀{ÃV H$aZo _| {H$g ‡H$ma ghm`Vm H$aVm h°?

(J) 5R ä`m hmoVm h°?

20. (a) Ravi is looking after a farm and he has been using latest chemical

fertilizers and pesticides to increase the yield. He is aware that there can

be adverse effects on environment due to this. Answer the following

questions based on the information given above :

(i) What are the adverse impacts of chemical fertilizers on environment?

(ii) How should he go about tackling the pests and adding nutrients to

the soil?

(b) State two predominant processes of desertification in west Rajasthan. 6

(H$) a{d AnZr IoVr~mar XoIVm h° VWm AnZr CnO ~ãT>mZo Ho$ {bE AmYw{ZH$V_ amgm`{ZH$ Cd©aH$m| Edß
nrãS>H$Zm{e`m| H$m Cn`moJ H$aVm h°ü& Cgo _mby_ h° {H$ Bggo n`m©daU na XwÓ‡^md nãS>Vm h°ü& Cnamo∫$
OmZH$mar Ho$ AmYma na {ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE :

(i) n`m©daU na amgm`{ZH$ Cd©aH$m| Ho$ XwÓ‡^md ä`m h°ß?

(ii) ZmerH$sQ> `m nrãS>H$ H$s amoH$Wm_ Ho$ {bE dh ä`m H$m ©̀dmhr H$aoJm VWm _•Xm _| nmofH$m| H$mo H°$go
{_bmEJm?

(I) npÌM_r amOÒWmZ _| _ÈÒWbrH$aU H$s Xmo ‡_wI ‡{H´$`mAm| H$s MMm© H$s{OEü& 
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21. Sheela always cycles to office but her neighbour Ria is dropped by her father in

a petrol-fueled car. Sheela is aware that antiknocking agent is added in petrol.

Based on the above statements answer the following : 6

(a) Why did Sheela choose cycle to office than to go by car?

(b) List out the gaseous pollutants produced from the vehicles.

(c) Name the antiknocking agent used in petrol.

(d) How will it be dangerous to man?

erbm gX°d AnZo Am∞{\$g gmB{H$b go OmVr h° na›Vw CgH$s nãS>mogZ {a`m H$mo CgHo$ {nVm noQ¥>mob-Mm{bV H$ma
_| N>moãS> OmVo hß°ü& erbm `h OmZVr h° {H$ noQ¥>mob _|ß Eop›Q>Zm∞qH$J EO|Q> {_bm`m OmVm h°ü& Cnamo∫$ H$WZm| Ho$
AmYma na {ZÂZ Ho$ CŒma Xr{OE :

(H$) Am∞{\$g OmZo Ho$ {bE erbm Zo H$ma Ho$ ~OmE gmB{H$b H$mo ä`m| MwZm?

(I) dmhZm| go {ZH$bZo dmbo J°gr` ‡XyfH$m| H$s gyMr ~ZmBEü&

(J) noQ¥>mob _| ‡`moJ {H$E OmZo dmbo Eop›Q>Zm∞qH$J EOoßQ> H$m Zm_ ~VmBEü&

(K) `h _ZwÓ`m| Ho$ {bE H°$go hm{ZH$maH$ h°?

22. Kumar and Siva are milk vendors. Kumar had thirty Tharparkar cows and Siva 

had twenty five Jersey cows. Even though Kumar has very low milk yield than

Siva.

(a) What are the main reasons for low milk yield per day?

(b) How can you develop the milk yielding of cows in India?

(c) What are ideal cattle feed and daily feed of an average cow? 6

Hw$_ma Am°a {edm XyY ~oMZo H$m H$m_ H$aVo h°ßü& Hw$_ma Ho$ nmg Vrg WmanaH$a Jm` h° Am°a {edm Ho$ nmg nÉrg 
Ogu Jm` h°ü& {\$a ^r {edm Ho$ _wH$m~bo _| Hw$_ma H$m XyY-CÀnmXZ ~h˛V H$_ h°ü&

(H$) ‡{V{XZ XyY-CÀnmXZ H$_ hmoZo Ho$ ‡_wI H$maU ~VmBEü&

(I) ^maVdf© _| Jm`m| Ho$ XyY-CÀnmXZ H$mo Amn {H$g ‡H$ma ~ohVa H$a gH$Vo h¢?

(J) EH$ Am°gV Jm` Ho$ {bE AmXe© new IwamH$ Am°a ‡{V{XZ H$s IwamH$ ä`m h¢?
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SEC TION–B

I S>–~

OP TION–I

{dH$În–I

( Wa ter Re source Man age ment )

( Ob gßgmYZ ‡~ßYZ )

23. What is an aquifer? 1

Ob^•V ä`m hmoVm h°?

24. State the reason for lowering of water table. 1

^m°_Ob-ÒVa Ho$ H$_ hmoZo H$m H$maU ~VmBEü&

25. How is water recharged by conjunctive wells? 2

gß`w∫$ Hw$Am| ¤mam Ob-nwZ^©aU {H$g ‡H$ma hmoVm h°?

26. Your area is water-scarce area. You want to carry out some crop cultivation.

On what basis, you should select the crops? 2

AmnHo$ joÃ _| nmZr H$s H$_r h°ü& Amn Hw$N> \$gb CJmZm MmhVo h°ßü& {H$g AmYma na Amn \$gbm| H$m MwZmd
H$aßoJo?

27. Virat and his classmates go for a picnic to a park nearby lake. Virat encounters 

large pipelines taking water from the lake to large tanks. Curious Virat asks his 

class teacher what the tank was. She replied that it was a ‘water treatment

plant’ and explained the various steps involved in it.

(a) If you were the class teacher, state what are the various steps in the water

treatment.

(b) State the need of water treatment.

(c) What is potable water? 6

{damQ> AnZo ghnm{R>`moß Ho$ gmW Prb Ho$ g_rn pÒWV EH$ nmH©$ _| {nH${ZH$ _ZmZo J`mü& {damQ> Zo ~ãS>r-~ãS>r
nmBnbmBZm| H$mo XoIm {OgHo$ ¤mam Prb Ho$ nmZr H$mo ~ãS>r-~ãS>r Q>ß{H$`m| _| ^am Om ahm Wmü& {Okmgw {damQ> Zo
AnZr A‹`m{nH$m go Q>ßH$s Ho$ ~mao _oß nyN>mü& A‹`m{nH$m Zo Cgo ~Vm`m {H$ `h "Ob-CnMma gß`›Ã' h° VWm
C›hmßoZo Cg_| {Z{hV {d{^fi MaUm| Ho$ ~mao _| g_Pm`mü&
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(H$) `{X Amn A‹`m{nH$m/A‹`mnH$ hmoVo Vmo Ob-CnMma Ho$ {d{^fi MaUm| Ho$ ~mao _| ä`m ~VmVo?

(I) Ob-CnMma H$s AmdÌ`H$Vm H$s MMm© H$s{OEü&

(J) no` Ob ä`m hmoVm h°?

OP TION–II

{dH$În–II

( En ergy and Environment )

( D$Om© Edß n`m©daU )

23. Define the nuclear reaction that produces energy from sun and stars. 1

gy`© Am°a Vmam| go D$Om© CÀnfi H$aZo dmbr Zm{^H$s` A{^{H´$`m H$s n[a^mfm {b{IEü&

24. Name the process by which biodiesel is obtained from vegetable oils. Give two

examples for biodiesel producing plants. 1

dmZÒn{VH$ Vobm| go ~ZmE OmZo dmbo O°dS>rµOb H$m CÀnmXZ H$aZo dmbr ‡{H´$`m H$m Zm_ ~VmBEü& O°dS>rµOb
CÀnmXZ gß̀ ßÃm| Ho$ Xmo CXmhaU Xr{OEü&

25. Pick out the non-renewable energy resources from the following : 2

Petrol, lignite, water, ethanol, oxygen, LPG, sunlight, sodium chloride,

anthracite.

{ZÂZ{b{IV _| go AZdrH$aUr` D$Om©-gßgmYZm| H$mo Mw{ZE :

noQ¥>mob, {bæmBQ>, Ob, BW°Zmob, Am∞ägrOZ, LPG, Yyn (gm°a ‡H$me), gmo{S>`_ äbmoamBS>, E|W°́gmBQ>ü&

26. Why is wind energy an indirect solar energy? 2

ndZ D$Om© A‡À`j gm°a D$Om© {H$g ‡H$ma hmoVr h°?

27. (a) Praveen is living in an area where more wood is used as a fuel. He aimed

to reduce the CO2 of his area and to produce hydrogen for his

participation in the science exhibition of his school. So he carried the

cultivation of algae in large-scale cultures. How do you think that the

cultivation of algae will reduce CO2 and produce hydrogen?

(b) Fuel cells are efficient and clean energy producer. Why?
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(c) Read the following statements carefully :

· A plant which pro duces hy dro car bon and is in ex haust ible liq uid

  fuel.

· Grown on land which are un fit for ag ri cul ture and not cov ered with

  for ests.

How can you term it? Give any one example. 6

(H$) ‡drZ EH$ Eogo joÃ _| ahVm h° Ohm± A{YH$ bH$ãS>r H$mo B™YZ Ho$ Í$n _oß ‡`w∫$ {H$`m OmVm h°ü& dh AnZo 
joÃ go CO2 H$mo H$_ H$aZm MmhVm h° Am°a hmBS¥>moOZ CÀnfi H$aZm MmhVm h°ü& `h H$m ©̀dmhr dh AnZo
ÒHy$b _| Am`mo{OV {dkmZ ‡Xe©Zr _ßo ^mJ boZo Ho$ {bE H$aZm MmhVm h°ü& Bg{bE CgZo ~h˛V ~ãS>o n°_mZo
na e°dmb CJmZm Amaß^ {H$`mü& Amn {H$g ‡H$ma gmoMVo h¢ {H$ e°dmbm| H$mo CJmZo go CO2 H$_ hmo
OmEJr Am°a hmBS¥>moOZ CÀnfi hmoJr?

(I) B™YZ H$mo{>H$mE± Hw$eb Am°a Òd¿N> D$Om©-CÀnmXH$ hmoVr h¢ü& ä`m|?

(J) {ZÂZ{b{IV H$WZm| H$mo ‹`mZnyd©H$ n{ãT>E :

· EH$ nm°Ym Omo hmBS¥>moH$m~©Z CÀnfi H$aVm h° VWm EH$ g_m· Z hmoZo dmbm Vab B™YZ h°ü&

· Eogr ^y{_ na CJm`m OmVm h°, Omo H•${f H$aZo Ho$ {bE A`moΩ` h° VWm {Og ^y{_ na dZ ^r Zht h¢ü&

Bg nm°Yo H$mo Amn ä`m erf©H$ XoßJo? H$moB© EH$ CXmhaU Xr{OEü&

H H H
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